A
730 FEH] I8

BF

1[E 8

BRI 23 ]g

=+ 22 ( ‘84

2@ Bk

EABAE 39 ( ;g
10

ST+EE 26 ( 1
5

EKE 29 ( ]i

=+ 22 ( 175

3EE

EAMAE 25 ( }g
13

sEKE 30 ( 9
8

wAm 20 (2

ZF

1 [E18k

= 20 182

n 8

/E*.L\ﬁ 17 9

2 [m] Bk

BEE 28 ]g

INEEEE 26 13

BEE 27 ( "

EFEF

11

11 ) 22
12 )

5 17
: )

8 13
7 )

7 15
5 )

15 20
13 )
10 23
10

12 ) 24
2

i)

11 19
2 )

2 5
: )

6 9
5

10 15
3 )

13 15
4

8 12

25 3

TR AN
] URY

BEEE

IR

FRRE AL

KA E

FE AL
FME TG

=5m™
HER

Hol

T

P N

MEEFE

== AN N B XIxr
ERBRE/N\IR—ILERE
HEF: SH7E5H17-18-24H-6 A1H
S5 BT —FEL-CORBTI)—F
mam 23 (0”4 ) v BER
E= r=h 7 - 5 PVARS
wEemE 7 (T 0 ) 16 mEm
w19 (0 3 ) 17 mRusm
mim 23 (10 ) 18 =mk
wam n (174 ) w xa
w20 (10" 0 ) 12 pEAFE
w6 () T 0 ) 13 mam
maes 42 (2 %) 0 wmmEe
mesg 20 (10T ] ) 15 mim
= 8§ — 3
BIKE 18 ( 10 — 1 4 ML
gxm o2 (5 T3 8 RIAMIE
RS 8 — 5
g 7 (g o ) 19 AKE
w31 (19 8 6 ELE
- 15 — 10 L)



